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6.

Robert Hooke used the folldg
at the cells for the first time :
(A) Light microscope
(B) Dark field microscope -

(C) Transmission electron microscope
(D) Scanning electron microscope

This is not useful for purification of
proteins

(A) Paper chromatography

(B) Ion exchange chromatography

(C) Gel filtration

(D) Affinity chromatography

This compound is used in density
gradient centrifugation

(A) Cholesterol (B) Sucrose

(C) Glycine (D) DNA

How many layers are there in the cell
envelopes of gram negative bacteria ?

@A)y 25 (B)3: C) 4 (D6

Allergy involves mostly
(A) IgA (B) IgG (C) IgD (D) IgE

Porins are

(A) Polysaccharides
(B) Proteins

(C) Nucleic acids
(D) Bacteria

Blue green algae can be upto
(A) 10 pm long

(B) 50 um long

(C) 25 um long

(D) 500 pm long

Red stripe disease is associated with this
crop :

(A) Tobacco
(C) Citrus

(B) Tomato
(D) Sugarcane

This is true about phospholipids

(A) Amphipathic

(B) Are not present in- all
membranes

(C) <20% in plasma membrand

(D) >80% in plasma membran

11.
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13.

14.

15.

16.
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18.

Where a protein may be present in
biomembranes ?

(A) Extracellular side

(B) Intracellular side

(C) Interior

(D) All of these

One of their function is to package the
material

(A) Golgi

(B) Lysosome

(C) Endoplasmic reticulum

(D) Nucleus

These vacuoles store nutrients
(A) Sap (B) Contractile
(C) Food (D) Air :

These take part in Photorespiration
(A) Sphaerosomes

(B) Glyoxysomes

(C) Peroxisomes

(D) Ribosomes

This metal ion is generally required for
enzymes utilizing ATP

(A) Cu™ (B) K*

(©) Mg™ (D) Na*

This consists of mostly linear strands :

(A) Starch (B) Glycogen
(C) Cellulose (D) Fibrin

A protein has

(A) H-bonds (B) Ionic bonds

(C) Peptide bonds (D) All of these

This amino acid is often Involved in
forming intrachain bonds

(A) Ala (B) Cys

(C) Asp (D) Met

The double helix of DNA consists of
(A) Phosphodiester bonds

(B) Stacking of bases

(C) Base pairing

. N\, (D) All of these

(B) 5
D) 9
B1MB6
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2. wEWEES Ryt & for ames @l e

(A) ®rTa aviea fas
(B) = fafer aeiera fasm
(C) vaaFa
(D) sfeqraviee fagm
3. g e Seelrad uied B iEaT H W Bl
&:
(A) FrafeeRia (B) g&™
(C) o (D) DNA
4. W FOTES SA0ET A BRI IR0 B
Wl P erdl 8
A) 2 B3 (© 4. @M

5. UgoH e G e
(A) IgA (B) IgG (C) IgD (D) IgE

6. TREERNE
(A) TleiRIdRIgSs  (B) WieH
(C) fdawara (D) g

7. Ha-eRadaE el ued &
(A) 10um TH e
(B) 50 pm & &id
(C) 25 um 9% &a
(D) 500 um & <4

8. YN BHA BIINTE :

(A) darp (B) @ArR
(C) g (D) =7

9. GRBIIMUSIHPIRATZTAE:
(A) SHTEE

(B) it SHaga ward FEi 8

(C) <20% Shagaa HeTd

(D) > 80% Shaga e H
BRIMB6

12.

13.

14.

15.

16.
17.

18.

SHage werr H NS BETIR- 9 € 2

(A) ara s e

(B) sraifRe fewm

(C) =R

(D) FwiiwE

1 0P B 5l B UL FRATE :
(A) s

(B) wuHE :

(C) 3. vgadt aferst

(D) ¥=a

Ig 7quT Wie tERif ¢ WS R Rl &
(A) @ (B) dgueiia
(C) #A (D) g

T WHIE-TaT A AP A &

(A) FOHR B (B) ToRRiTRIH
(C) wafwfam (D) IRaEH
I§ uTg 3 eaa: ATP & e e &+
AT TSI P fAT SMaTaF BT S

(A) Cu™ (B) XK'

(€) Mg" (D) Na'

e e Y T A FA R :
(A) #s (B) TaRPISH
(C) ¥Hegdt (D) wrgdH
THENAHER & .

(A) H-dy (B) smafymay
(C) Y= dH (D) =wEwi
& 311 31 BN ST A aY AR :
(A) Ala (B) Cys
(C) Asp (D) Met
DNA # gedt Feet i &

(A) BEHISEIRER T

(B) @RI &1 gg1 a1

(C) &@RIBIY™ I

(D) TEaH

UfR &1 3t pH amm &

A) 7 B) 5

(C) 2 (D) 9
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22,

24,

25.

26.

27.

28,

The fastest enzyme is
(A) Amylase

(B) Carbonic anhydrase
(C) Lysozyme

(D) Rennin

Sulpha drugs act as
inhibitors

(A) in folic acid synthesis in bacteria
(B) in folic acid synthesis in viruses
(C) for succinate dehydrogenase

(D) for glucose-6-phosphate

Hormones can be

(A) Proteins

(B) Steroids

(C) Amino acid derivatives
(D) All of these

In this female has a pair of XX
chromosomes
(A) Drosophila
(C) Bulbul

(B) Butterfly
(D) Peafowl

Which disease has failure of CI-
transport mechanism ? '
(A) Colour-blindness

(B) Huntington’s

(C) Phenylketonurea

(D) Cystic fibrosis

In Hb®, Val is substituted by
(A) Asp (B) Glu
(C) Tyr (D) Gly

In Alzheimer disease, the aggregation of
this happens

(A) Phospholipids

(B) Haemoglobin

(C) Amyloid B-peptide

(D) Nucleic acids

Who discovered that [A] + [G] = [T] +
[C]?

(A) Chargaff
(C) Crick

(B) Watson
(D) Stahl

Beadle and Tatum used N. cyf
mutants to establish bios
pathway for
(A) Tryptophan
(C) Arginine

(B) Ornithi
(D) Lysine

Yo

. 31'

32.

33.

34.

3s.

36.

37.

W(A) Clover leaf

(C) Fruit

In 3-dimension, t-RNA has the shape of
(B) L
(D) N

(©) Homogeﬁiisic acid
(D) Chlorogenic acid

UUU codes for :
(A) Alanine
(C) Tyrosine

(B) Phenylalanine
(D) Glycine

Dolly is the name of well known
(A) Cloned sheep (B) Vector

(C) Gene (D) Virus
Halophyte plants are found in

(A) Sand

(B) Saline environments

(C) Rocks

(D) Dry conditions

This has tuberous root

(A) Turnip (B) Beat
(C) Carrot (D) Mirabilis

In this, aerial roots absorb moisture from
the air :

(A) Cuscutta (B) Orobanche
(C) Vanda (D) Heritiera

Ginger is :
(A) Stem (B) Root

(D) Bulb

This is pot an example of aerial
modification of stem

(A) Corm
(B) Tendril

- «. (€) Thorn

(D) Phylloclade

(B) Saraca
(D) Croton
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21.

22.

23,

24.

25.

26.

27,

28.

w1 siaRrar sl dee 1 e Bt &
(A) SHaroi # wifers s & Geewo 3§
(B) fammopait # wiferd s & HIAuIH
(C) waire fSemgior & for.

(D) @I 6-%iehe & forg

g B §

(A) w&éF (B) fex=ms

(C) seiMsrazgm=1(D) FEa

T HIETH XX TUREE &1 g fiemE gl e
(A) griftsen (B) - forareht

(C) g (D) =%

fFa ST SR CI P URTE H qRTISTIR ?
(A) durferan

(B) &fémes-

(C) SRR

(D) g wrRARE

Hb* # Val ot orre a8 wfoenfia gians
(A) Asp (B) Glu

(C) Tyr (D) Gly
TAHER A TE SPGB I & :

(A) wiEpIfeits

(B) &

(C) ufidigs <R

(D) =i sret

e qer T RF [A] + [G] = [T] + [C] ?
(A) TIRIE (B) dafewd

(C) fpm (D) =wE -

diea iR Tem A =Y. FRT & SARTIHT B

mﬁmﬁaﬂﬁmm_ﬁwﬁ:
(A) feerp= (B) aﬁﬁaﬂﬁ_
(C) anfSeh= (D) @R
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31.

32.

33.

34.

35.

36.

| fftg a4, (-RNA 9 SR &I 7=

_,f: Tt e
(A) aguff (B) L
) M (D) N
Teh IR H € A A I eIl -
(A) gRa
(B) wawFH
(©) _aﬁa‘lﬂf&ﬁ‘ﬁim
(D) FRMfS sFa
UUU s8a1ge s :
(A) TR (B) fraaart=
(C) eRRWA (D) e
STelt 4 & s uiig
(A) FAPAESHS (B) aESD
(C) =i (D) fawmy
t%ﬂmwmﬁrﬁ%
(A) argH
(B) cavitg smami
(C) =EgmI#
(D) I aRfRfa
TP MOTR TS BRI &
(A) wreTsH (B) gpR
(C) TR (D) frdfafer
U R SIS Ba1 Y 3T T ATYNG0] Bt
B i,
(A) 3FRAd (B) 3iRW@=H
(C) dvsr, (D) aRfdrg=r
IERE B TH
(A) =¥ (B) wi®
(C) wa (D) wIehde

AB W B ATATT IRV BT SSTEX0T TE &

(A) =7 de (B) W
(C) Hea (D) Wi da
¥ arfrme erE

s (A) g1 (B) 3eh®
(C) FopnRRar (D) ®FA



39.

40.

41.

42.
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44.
45.
46.

47.

48.

49.

It is an example of pinnate t

of the leaf blade
(A) Cosmos (B) Cajtes
(C) Tapioca (D) Semal

(A) Sunflower
(C) Marigold

(B) Zinnia
(D) Neem

How many types of corolla are there in
petals ?
(A) 5
< 7

(B) 10
(D) 8

It is an example of composite fruit
(A) Pineapple (B) Calotropis
(C) Larkspur (D) Custard apple

In this the edible part is juicy placental
hair

(A) Apple
(C) Coconut

(B) Orange
(D) Fig

In this, seeds do not have hair
(A) Calatropis (B) Drumstick
(C) Alstonia (D) Cotton

This has glanular hair

(A) Tobacco (B)_ Lemon

(C) Agave (D) Yucca

This does not show mermicophily

(A) Onion (B) Guava

(C) Mango (D) Litchi

This uses mimicry as a defense
mechanism

(A) Datepalm (B) Caladium

(C) Opunita (D) Jatropha

In the floral formula, @ stands for
(A) Actinomorphic

(B) Superior ovary

(C) Bisexual

(D) Zygomorphic

Ibris amara is useful for
(A) Cough

(B) Liver complaints
(C) Fever

(D) Rheumatism

Onion belongs to the family
(A) Solanaceae (B) Liliaceae
(C) Asteraceae (D) Brassicaceae

The activity of sieve tube is controlled
by nucleus of

(A) Companion cells

(B) Bast fibres

(C) Phloem parenchyma

(D) Xylem vessels

52. Casparian strips of cortex are made of
(A) Cellulose (B) Chitin
(C) Alginate (D) Suberin

53. In earthworm, gizzard is present on these
segments of alimentary canal

(A) 8“1 i 9lh (B) lolll 2 lzth
(C) 4111 i Slh (D) lslh ta 16Ih

The symplast comprises the network of
cytoplasm of cells interconnected by

(A) Plasmodesmata

(B) Endoplasmic reticulum
(C) Suberin

(D) Vacuoles

55. Above this minimum vertical distance,
the gravity potential is not negligible
(A) Im (B) 5m
(C) 10m (D) 20 m

56. Imbibition involves
(A) Solute potential
(B) Gravity potential
(C) Matrix potential
(D) Pressure potential

57.  The major solute taken in by the guard
cells is
(A) Na* (B) Ca™
(D) Mg++

lants, micronutrients are those which
needed less than or equal to the

(D) 1ue
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Rrifea™ d19gERue

(A) ®EEN (B) 3RS
(C) @am (D) 5

I T Jorps SR e :

(A) FromHEt (B) sffr
(C) =1 (D) =
A H e WPR & Terdsh TR I & ?
(A) 5 B) 10 (C) 7 (D) 8
B U WU Bl BT ISR -

(A) =T (B) #&R
(C) aFaER (D) T
SHH WIel AR HER IS RH &
(A) da (B) =Rt
(C) TRIa (D) 3R
£ v g T8I 81 :

(A) I® (B) w&wH
(C) vfeam (D) Hur
T IR B &

(A) TP (B) iq
(C) <maEmoT (D) gaw
e frdifere 7€t gurian :

(A) @& (B) w&He
(C) 3m (D) =it
TE RO P R fopafafes s # e &:
(A) @R (B) wafemm
(C) =t (D) e
quRE H @ quiare

(A) TEFEHTHS

(B) SedadisreTery

(C) fefem

(D) vFHaREEfHa

T 59 ford e RIB &

(A) @it (B) agpa
(C) SR (D) wfear

52.

- f

S5,

56.

57.

TPAPTAIR S

) deeRh (B) fafergeft
) TR (D) AR
ﬂﬁmﬂ?mﬂ;mmﬁmm
HEH PIATE :
(A) T@tafRET (B) aRe
(C) wigaygas (D) IvaieeE
e A e g e &
(A) degart (B) #zeH
(C) tefie (D) gaRA
U A Uity Yuofl AR AT & 39 G A Bkt
g
(A) 8df- 9t (B) 10dt- 124t
(C) 4ur-5d1 (D) 154i - 16d1
Fqaid At PINTET ST & AT B 3D GRT
3 Hafod e eI BT
(A) Sagadas
(B) 3ia: yeaft siferst
(€) gaRH
(D) Rfdas |
9 RIAH AP T $ HR [Hearpuv
Ty TE BT :
(A) 1m (B) 5m
(C) 10m (D) 20 m
31 9190 BT HRYT &
(A) feoafavae
(B) Tcammy fawg
(€) #fewfavma
(D) z@fema
R HI¥ERi grR1 u fHe 9 arer ot #
TS
(A) Na' (B) Ca™
(©) K (D) Mg"
| 3 QeI dcal B Savgdar A Jra
R e &, vde um b v & forg
A) 0.1 mg (B) 0.1g
(€©) 0.1 g (D) 1pg
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62.

67.

61.

In hydroponics, plants are grow
(A) Water (B) - Nutri
(C) Soil (D) O,

Nitrogenase contains these two

(A) Mo, Fe (B) Fe,Cu

(C) Cu,Mo (D) Ca,Cu LN
Which is not true about cyclic
photophosphorylation ?

(A) O, is not released.
(B) Photolysis of H,O does not take
place.

(C) No NADPH is produced.
(D) Only Pgg is involved.

In humans, the number of premolar teeth
is

(A) 2
) 4

(B) 3
- (D) 6

How many pairs of salivary glands are
there in humans ?
A1
©) 3

(B) 2
(D) 4

Gastric juice contains

(A) Lysozyme (B) Amylase
(C) Trypsin (D) Pepsinogen
Kwashiorkor caused due to deficiency of
(A) lodine (B) Fe

(C) Protein (D) By,
Mmﬁdione is

(A) Vit.C (B) Vit.D

(C) Vit.K (D) Vit. A

These produce antibodies

(A) Neutrophil (B) Basophil

(C) Lymphocyte (D) Eosinophil

Instead of excreting, these can store 4 ¢
in tissues /

(A) Birds
(C) Elephants

(B) Fish §
(D) Camel §

Uremia is

(A) Excess urine formation

(B) Presence of excess urea in urine

(C) Presence of excess uric acid in

urine
(D) Presence of blood cells in the urine
This is not true about white muscle (as
compared to red muscle)
(A) more blood capillaries
(B) less blood capillaries
(C) less number of mitochondria
(D) more sarcoplasmic reticulum

71. In humans, the number of bones in each
arm is
(A) 30 (B) 20 (C) 10 (D) 60
72. In humans, the brain reaches its a&ult
size at about
(A) 1 year (B) 2 years
(C) 4 years (D) 6 years
73.  This hormone is a catecholamine
(A) Oxytocin (B) Adrenaline
(C) Vasopressin (D) Prolactin
74. This employs sexual reproduction
(A) Amoeba (B) Euglena
(C) Plasmodium (D) Sycon
75. In Autotomy, regeneration of this limb
takes place
(A) Eye (B) Liver
(C) Bone (D) Tail
76. Water potential in soil is quantified in
terms of
(A) Pressure
(B) Volume .
(C) Molar concentration
(D) Molal concentration
77. Sucker fish and shark show

s 1=
]
L (3s

(A) Mutualism

(B). Commensalism

(C) Competition

(D) Parasitism

Water above this dissolved 02 content
Way be considered uncontaminated

" (B) 0.008 mgL™
(D) 8ugL"
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61.

62.

65.

67.

DIADL

Sreread faftr % wew 3t gfe Tue

Wl'l?ﬁ%:

(A) w1« (B) W@ dad

(©) F=1 (D) 0, %
TRgms A A arg e E

(A) Mo, Fe (B) Fe,Cu

(C) Cu, Mo (D) Ca,Cu

BT UHTA-BRBRIGAT & fava # 78 v
TEE:

(A) O, 3@qad-Elerdt|
(B) waTefta Siet 3rqere el g |
(C) NADPH Sd@1E &l 811 |
(D) &acPygy EXFHIBRATE |

I H, SadvIe Sl B Hen g &

A2 B3 ©4 DEG

A7sa # forerft gffva o aferi i & 2

) 1. (B) 2 (C) 3 (D)4

FR T HEETE .

(A) <rwTSTET (B) vAEA

(C) fe=dim (D) R
RN TGP H & FRUIBTR :

(A) IWEH (B) Fe

(C) W= (D) Bj;

A E :

(A) frefim C (B) fefmD

(C) fefmK (D) faefmA

g wfaftel &1 o sl &

(A) =ifta (B) aaifha

(C) ferprame (D) RFIfRe
ﬂdﬁ*&squﬁmﬁmﬁﬂﬁmaﬁ :
qHdE P
(A) uwEh (B) wWwell

(C) =eh (D) ¥e

71.

72.

73.

74.

75.

76.

7.

\}ﬂ

(C) 73 4 IR 3 31 fdaT
(D) 33 e et 3 Jufafa

¥4d URRY & IR F I8 uey TEl ® (e TR
PIgenH

(A) i o St
(B) avad S

(C) FAGABOBY
(D) aiftres Yefise wferen

S W S o H ARl @1 aen ek &

(A) 30 (B) 20 (C) 10 (D) 60
F79 ¥ HRRTE 9 U PR W T (3 A
15I§?JIG|TE'IT%:
(A) 1ad
(C) 4ad

(A) siRfieiRE (B) ufgfem
(C) Iumfy= (D) wWeEeH
TE AN T EE
(A) 3rfiar

(C) wrsHfeas

WSS # 39 ST BT TOGHIT B TR :
(A) sitE (B) apd
(€) X (D) I

14 el f4%d 39 w9 yarofiga faban o 2:
(A) =am (B) 3mFaH
(C) #ioRErsdl (D) et drwsal

YU WO T A T &
(A) wemsRar  (B) weiforn
(C) wfvafiva (D) wsifaar

¥ SRR g O, P AT Y Rl
&

ARS8 mg L
OmgL'

 (B) 2%
D) 67t

(B) e
(D) sEHA

(B) 0.008 mgL"'
(D) 8ugL”



79.

81.

82.

83.

86.

87.

- 88.

89.

According to Susruta Samhit
consisted of
(A) Flowering plants
(B) Shrubs
(C) Osadhi
(D) Jangama &

Who laid the foundation of Palaeontology ?
(A) Linnaeus (B) Aristotle
(C) Cuvier (D) Lamarck

About 98% of mass of living organisms
is made up of just six elements. This one
is not among those :

(A) P (B) S
(€) C (D) H
 What is “Milk Sugar” ?

(A) Glucose
(C) Sucrose

(B) Cellulose
(D) Lactose

Which is the alcohol present in fats ?
(A) Glycerol -(B) Butanol
(C) Ethanol (D) Octanol

What is not true for enzymes ?

(A) Enzymes have substrates.

(B) All enzymes are allosteric.

(C) Enzymes are catalyst.

(D) Enzymes may have an inhibitor.

Animal membranes contain
(A) Steroids -(B) Chlorophyll
(C) Prostaglandins (D) Vit. A

This is an example of a transporter
protein :

(A) Actin
(C) Insulin

Who gave a theory which is known as
primary abiogenesis ? .

(A) Oparin (B) Haldane

(C) Miller (D) Urey

(B) Ig
(D) Haemoglobin

This period belonged to Paleozoic era :
(A) Triassic (B) Cambrian
(C) Jurassic (D) Permian

Which one was the first
vertebrates which is supposediily
evolved ? s
(A) Jawless fish
(C) Frog

92.

93.

94.

95.

96.

97.

98.

Lot

This has not been produced by selective
breeding from a wild mustard :

(A) Broccoli (B) Cauliflower
(C) Cabbage (D) Carrot

For *Dog’, “Canis™ refers to its
(A) Genera (B) Family
(C) Order (D) Class

This is not a moneran
(A) Spirulina (B) Nostac
(C) Oscillatoria (D) Euglina

This belongs to the phylum cnidaria :
(A) Seaanemone (B) Sycon
(C) Chalina (D) Amoeba

Pearl oyster is
(A) Pila
(C) Sepia

The adult specie of this phylum are
radially symmetrical ;

(A) Eichinodermata

(B) Mollusca

(C) Annelida

(D) Cnidaria

In vertebrates, notochord becomes the
following in adults :

(A) Tail

(B) Vertebral column

(C) Heart

(D) Pharynx

This is not true of Sharks :

(A) They may be as long as 12 m.

(B) They are viviparous.

(C) They have swim bladder.

(D) Their liver is rich source of Vit. A.

(B) Achatina
(D) Pinctada

This is not a fish :
(A) Dog fish

(C) Star fish
“Grey Air” refers to
(A) Incomplete Smog formation
(B) NO, :
(C) . CO

(D) SO,

(B) Saw fish
(D) Flying fish

& The conjugation of antibodies with
W following is useful in fluorescence
£ @ microscopy :

"7 ¥ (A) Metal ions
© (C) Carbohydrates (D) Lipids

(B) Dyes
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2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

TS & el & e S W T W s /| - e At S Sw-uE W
F-H AT & | SR S e @ S et Il / el s # ¢ sii wrafe et wt
fards et / e St WRZ O F ¥ | A8

Example : If Roll No. is 179682 ¥ (@uestion Booklet No. is 14390, then

JETEOT ¢ o UeF 7/ 179682 &

L1l 7T1956:1-812 Allilndal 31000
JE1EIEIENIE JElEIEIE)
olo|o|olo|e olo|o|e|e
olole|e|e|o olo|e|e|e
oleolole|e|e ole|le|e|e
ole|elele|e elele|e|e
eoleo|lo|e|e|e eleo|le|e|e
ole|lo|o|e|e o|le|o|o|oe
oleo|le|e|e|e ®|e|e|e|e
olo|le|le|e|e olo|o|e|e
olo|lo|le|e|e olo|lo|o|e

(C) Process for Filling up OMR Answer-Sheet (I50-uses are-11 %t w3 =t n&m) :

1. The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

7o Sg-famed TER H € | Taw W & e fed e Il A @ et v 6 walfue sege & 1wt @ wee
TEAT % Falliaes S9ga fheq & WA & Gt Tiet i et / el \e @ 4 @ @ T | ol e sefear
e &t dfaer & T1aT § O 36 IT-UIF F | W /I S3Am |

Example: If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as
shown below :

IR ;R e i 7 3 fag e <B” W@ S E, ﬁmm7%m$mrﬁﬁw}=ﬁﬂﬁwﬁnﬁm
TR

Q. No. 1 ® e © 0O
Q.No.2 ® e 000

QNo.7 @® @O

25 . (a) The circles, 8o described il C- hg\{: are mbedar}.é.\ad ,

| Continued on the back cover page.
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(c) Only one circle corresponding to the correct answer should be darkened as shown below :

() TE TR | TS FET TF € T P g TET ST e R T

omecy/Tem: @ @@ OFf* @‘“ @O0 » ®O®OO
Incorrect / e @.‘ ; R r O09@0 - OGO

appropriate circle using Blue/Black balPpoimeFen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not permissible as the answer-sheetn are machine
gradable and it may lead to wrong evaluation.

(=) I9gTT et W At / B AT W Fo  TH § Teet el 78 [ o¥e G o o o 3 I % g
wailfas W 7 B 77 @ €, T et BT H B GREA HA AT ¢ | ST A O T T Bl @A
W 79 | frer =it arpafa @ <t it &, i Suv-uE W Avie gRT gt e s € ol te s W
Teie | Ffe o wat & |

(e) If more than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method™ above, it shall be treated as wrong way of marking.

(®) ot s @ ik et &t iell / Hret der @TEe s @ O SR a1 I ) 3 TR 3YaT W En
T e | e febar S, At 3R e SO] e s

Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only
be used for this purpose.

et WeBR 1 e I I-TTH T AR W & lmmmﬁsﬂ%mmﬁmﬁﬁsﬁww# I W e
W |

“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
will be rejected.

IS WY “an Hie” W fowdt o 1 frae anf 7 awrd 4 4@ folt e = forgeer it 3 1 Forpr €9 € 3
TRITT i IFHRERT T B &Y ST |

Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
Answer Sheet as this may lead to disqualification.

IOC-T & -1 & Sfciiia 3§ W fhdt 377 W ) fmdlt w1 e = w9 @ 9 98 e 9 Ieiear & few
ST AT & T Fewel & |
For verification of your handwriting. it is necessary to write the prescribed Text completely which is printed on the

back side of the Part-I of OMR answer-sheet and also put your signature on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

.73 IG5 -1 Y H i i B PRWEER st ety 3 gt w0 @ Fraa 1 T R
=<t are ittt e T Rt | wweifert it & foe aw sifvard & 1 O T 0 9 S se-o / Iedigart
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In case you do not follow the instructiogf@y*gi énon thﬂ»&k de of OMR answer-sheet, your answer-sheet is

B1IMB6

.



